P =
SHHE 27| 20| MEEE Y
SHIE £719] ZO|E AFdl= A2 7|2 SRAZRD 2 L 5 UsH U2 2T OFdLICE 7|2 SR 27|18 A=t 2F 712
ol FHE NiSote T2 24 O[X|T =2 HEY, "JE&E XY, A719 BF, 22|12 JHQINQI M =0 20| CHE RASE 1260}
5t
ontlr;ro Z 02122 B} H2| T A0IE ZSHHORIH TRIt +FEQ A7|0E2 FF M=t A7 &2 27§ MHYL|CE
A7)
szus_?odz] (Z;L) %’;‘dcm?"]

4'0" 122 100-110

412" 127 110-120

4'4" 132 120-130

4'6" 137 125-135

4'8" 142 130-140

4'10" 147 135-145

5'0" 152 140-155

52" 158 145-165

5'4" 163 150-170

5'6" 168 155-175

5'8" 173 160-180

5'10" 178 165-185

6'0" 183 170-185

6'2"> 188 175-193

FBH= 27|9] AO|X OIS AU OfF| f 2 A|S HSH=X| HS AJ|S HSH=X| ZHSORILIC, YKo B
S £319] AL ZXSII|} 418 20| 21 A7|= O QFYTIQ HQILICE B 80| Xm B FS YAl o 4| &

it x
IE g2 °": Ef?j. O @2 2771 U= SO0RE & Z2|A7|= [ 22 27|18 & £+ UASLICE 27 &%= =112 =

X[HO[ ot I 5! 20| o YR FYFE 70T 2317t W2 2719 7|71 Z27Fotk= 20| SSLICH

A o= [Eo gy
ofte| W82 2¥E Ul =301 &= 0l7S LIt

o B2 =2l |2 2k B

T oT”

—l—cloﬂkl 6
I_‘__{(HI-_! |;||;||» E:

o DZ0M MBI AF A7|0jY HP
o A3|2 wa| Ef2 ©S 27 3l 22
o A3|2 XfF Efs 29

o BAIIUR AJ|S R ZR

o Fl0B[st SRt 30| LK 3



THA = 2715 MEfSH= e

OFOJOf|H| Sh= AFOIZQ| AP|= 712t ZRAZ 5L = UASLICE
FL|Of £7|9] YBIHQI 242 0t0[9] k51t 3 A0S SFoHH EL Lt

Ol LIS Soll ¥H2 M SIMIR:

1) K9] 712t S5
2) OIEe AEOIM X2 7|1E KON,
3) RAQ| 7|17 AEY & 7] A0|of] Q= B2, MIESS HUSHYAIL:

ML OT¢ = -
o XHAZ 2|0 Boff 7PHCIH B2 27|52 AFE0HIAIL.
o XHA7 210 H[of] FHRH H =2 27|15 AFBSHIAIR.
4) 717t 50| £ALH XELZ0| U= FHE A7 "0|§ 2OISHYA| 2.
5) M@l 27| 20| He| LM 27|E S2lHLE E0I= R7HX| AFY0| USLICE O HYEl= A2 SITC| XEZ
XF_?IC_‘(‘)‘I-AIAIO
O (=] -
XX
H 7| =24 T
Lfo| (in) (cm) =22(Ibs) (kg) ¢(9| 20|
cm
3 37 94 31 14 70-80
4 40 102 35 16 80-90
5 43 109 40 18 90-100
6 45 114 46 21
100-110
7 48 122 50 23
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120-130
10 55 140 70 32
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12 59 149 89 40
140-150
13 61 156 100 45
14 64 163 110 50 150-160
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